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一、英语：
COLLEGE ENGLISH TEST
FOR NON-ENGLISH MAJORS OF CONTINUING EDUCATION
（英语一模拟题1）

I. Choose the correct pronunciation to each of the following words. 
 1. observe: 	A. [bzәv]				B. [әbzә:v]
 2. employ: 	A. [impli]				B. [empli]
 3. various: 	A. [vris]				B. [vris]
 4. operate: 	A. [preit]				B. [preit]
 5. splendid:	A. [splendid]				B. [splendid]

II. Mark the stress for each of the following words. 
 6. amount
A. 第一个音节	  B. 第二个音节
 7. practice
A. 第一个音节	  B. 第二个音节
 8. instrument
A. 第一个音节	  B. 第二个音节		C. 第三个音节  
 9. umbrella
A. 第一个音节	  B. 第二个音节		C. 第三个音节  
 10. political
A. 第一个音节	  B. 第二个音节	  	C. 第三个音节	  D. 第四个音节

III. Each of the following sentences is provided with two answers. Choose the one that identifies its correct sentence type and its nuclear tone type. 
 11. What have you seen?
 	A. 一般疑问句——升调   		B. 特殊疑问句——降调
 12. Did he go there on foot or by bike?
 	A. 选择疑问句——升、降调   	B. 一般疑问句——升调
 13. Why didn’t you go?
A. 一般疑问句——升调   		B. 特殊疑问句——降调
 14. You don’t have to come tomorrow,         
 	A. don’t you?——升调    		B. do you?——升调
 15. What lovely weather it is!
  	A. 祈使句——降调      		B. 感叹句——降调

IV. Fill in each of the following blanks with a word in its proper form. 
16. ________ we beat them ______ they beat us, the match will be enjoyable.
17. Dew is formed _________ the grass is thick.
18. She listened attentively ________ she should fail to follow the speaker.
19. This car, ________ I paid a lot of money, is now out of date.
20. There weren’t any movie theaters in the town ______ I spent my last summer.
21. A man’s knowledge consists only of two parts: that ________ comes from direct experience and that _________ comes from indirect experience.
22. When _______ trouble, they always look _____ him ______ help.
23. We must be very sorry _______ what has happened.
24. He missed the train _______ 10 minutes.
25. Products made ________ machines are generally cheaper than those made _____ hand.
26. Some people do not believe _____ teaching formal grammar.
27. Last night I came back late _____ the meeting.
28. She lives _____ 4401 Part Street.
29. It’s eight o’clock now. You ________ be doing your lessons. You _________ (not) be watching TV.

V. Each of the following sentences is provided with four answers labeled A, B, C, and D. Choose the one that best completes it. 
30. “What is that building?” “_________ the garden equipment is stored.”
A. There’s in which           B. That’s where   
C. The building that            D. That’s the building which
31. It wasn’t such a good dinner ________ she had promised us.
A. that      B. which      C. as      D. what
32. ________ the flood, the ship would have reached its destination on time.
A. In case of      B. In spite of      C. Because of      D. But for 
33. _______, I will learn it well.
A. However difficult English is         B. No matter how difficult is English
C. However English is difficult         D. No matter how English is difficult
34. While reading the newspaper, ________.
A. a colorful advertisement caught my eyes
B. my attention was attracted by an advertisement
C. I was attracted by a colorful advertisement
D. what attracted me was a colorful advertisement
35. The meat is not ready ______ and it _____ has to be cooled for another five minutes.
A. still…yet         B. yet…already     C. yet…still          D. already…still
36. Frank          things quickly and with ease. He didn’t have to sit up late        the intricacies of the business.
A. learned…studying   B. studied…learning   C. studies…learning   D. learned…studied
37. The young driver looked over the engine carefully lest it _____ on the way.
A. goes wrong   B. should go wrong   C. went wrong   D. would go wrong
38. Doesn’t he have any sympathy ________ the crippled boy?
A. at        B. for        C. in        D. of
39. John met an old classmate of his ______ his way home.
A. at           B. on           C. in             D. by
40. Mr. Li _________ the composition once a week last term.
A. had us do    B. had us done   C. had us to do    D. had us do
41. _________ with the picture, Mary tore it to pieces.
A. Dissatisfying thoroughly        B. Being thoroughly dissatisfied
C. To dissatisfy thoroughly         D. To be dissatisfied thoroughly
42. He is the man ________ I supposed was capable of doing such a thing.
  A. who      B. to whom      C. of them      D. whom

VI. There are four parts underlined in each of the following sentences. Identify the one that needs correction. 
(1) The teacher’s lecture on the history was three hours long and Henry felt very boring.
          A             B                      C                              D
(2) Mr. Brown often wore a heavy coat because he was not used to live in such a cold climate.
                     A       B                                C          D
(3) Having finished his term paper before the deadline, it was delivered to the professor before 
         A                         B                      C
the class.
        D
(4) The reason that he has been such a success is because he never gives up.
       A                          B            C                D

VII. Fill in the blanks with the word in the brackets in its proper form.
(1) I think I’ll stop working soon. I ______ (tire).
(2) I wish I ______ (have) your opportunities when I was young.
(3) This difficulty _____ (can, avoid) in several ways.

VIII. Translate the following into English. 
(1) 孩子们高兴得跳了起来。
(2) 他们因工作出色而受到表扬。
(3) 你听到有人在敲门吗？

IX. Translate the following into Chinese. 
(1) After all his efforts, he failed.
(2) It hasn’t been made clear when the new road is to be opened to traffic.
(3) I like swimming (very much) and so does my brother.

X. Read the following passages, and determine what type of clause each of the underlined parts is. 

Passage 1
The Number 13
One of our strongest taboos concerns the number 13.
It is perhaps our most deep-seated superstition; it would be difficult to find a Western-educated person (1)who did not fear or feel uneasy at the prospect of sitting 13 at table, or being allocated room 13 on the 13th floor of a hotel, and so on.
There are also superstitions attached to other numbers; even those master rationalists, the ancient Greeks, believed that all numbers and their multiples had some mystical significance.
Thirteen, as we well know, is regarded with great awe and fear.
The common belief is (2)that this derives from the fact that there were 13 people at Christ’s Last Supper.
This being the eve of his betrayal, it is not difficult to understand the significance given to the number by the early Christians.
In more modern times 13 is an especially unlucky number for a dinner party; (3)should this occur, it is believed (4)that one of the 13 guests will die within the year.
Hotels will avoid numbering a floor the 13th; the progression is from 12 to 14, and no room is given the number 13. Many home owners will use 12½ instead of 13 as their house number.
Yet oddly enough, to be born on the 13th of the month is not regarded with any foreboding at all, which just goes to show (5)how irrational we are in our superstitious beliefs.
(1) A. 名词从句——作动词宾语    B. 名词从句——作同位语
(2) A. 定语从句——修饰先行词    B. 名词从句——作表语
(3) A. 状语从句——表示虚拟条件  B. 状语从句——表示对比
(4) A. 名词从句——作主语        B. 名词从句——作宾语
(5) A. 名词从句——作同位语      B. 名词从句——作动词宾语

Passage 2
Community Service
The idea of helping people comes naturally to most of us. If we see a blind person getting off a bus, we watch to make sure that he is in no danger of falling. Members of a family help one another, with particular care for the very young and the elderly.
There are many people (6)who have nobody near to see their need for help and often nobody to give it even when the need is known. The old, the disabled, the homeless and friendless—these are the people for whom help may not come, (7)because nobody sees. It may not have occurred to you that you are in a position to help. Community service means helping the people around you. Organizations exist which try to make sure (8)that someone sees (9)when help is needed and does something about it. These organizations depend on voluntary help to carry out a wide variety of tasks, volunteers giving up a little of their spare time to lend a hand.
(10)If you wish to take part in this worthwhile activity, what sort of things would you do? Think of the people most in need of help and the ways in which help can be given. Much of the work of community service is concerned with the care of the elderly and the disabled. Old people cannot always redecorate their homes. Household repairs, cleaning, preparing food or taking care of the garden may all prove difficult. Elderly people with failing eyesight are delighted if a friend comes in to read or to write letters for them. A helping hand and a friendly face can mean a great deal to a lonely elderly person.
(6) A. 定语从句——修饰先行词    B. 名词从句——作同位语
(7) A. 状语从句——表示条件      B. 状语从句——表示原因
(8) A. 名词从句——作动词宾语    B. 名词从句——作定语
(9) A. 状语从句——表示让步      B. 状语从句——表示时间
(10) A. 状语从句——表示让步      B. 状语从句——表示条件

COLLEGE ENGLISH TEST
FOR NON-ENGLISH MAJORS OF CONTINUING EDUCATION
（英语一模拟题2）

I. Choose the correct pronunciation to each of the following words. 
1. absorb: 		A. [bsb]				B. [әbs:b]
2. enjoy: 		A. [indi]				B. [endi]
3. obvious: 		A. [bvis]				B. [bvis]

II. Mark the stress for each of the following words. 
1. amount
A. 第一个音节		B. 第二个音节
2. midnight
A. 第一个音节		B. 第二个音节
3. possible
A. 第一个音节		B. 第二个音节		C. 第三个音节

III. Each of the following sentences is provided with two answers. Choose the one that identifies its correct sentence type and its nuclear tone type.
1. Is the flower red or blue?
  A. 一般疑问句——升调   	B. 选择疑问句——升、降调
2. Must I leave right now?
  A. 一般疑问句——升调   	B. 特殊疑问句——降调
3. You don’t have to come tomorrow,         
  A. don’t you?——升调    	B. do you?——升调

IV. Fill in each of the following blanks with a word in its proper form. 
(1) He hoped the passenger would Mary be and indeed _____ was _____.
(2) _____ way shall we go? By the stream or through the wood?
(3) Let’s go and have a drink. We’ve got _____ time before the train leaves.
(4) Look at these pears. This seems to be a nice ripe _____.
(5) He remembers _____ London of _____ past and says it was gayer than _____London of _____today.
(6) Let’s sing a song, ________ we? 
(7) Don’t stand _____ a tree during a thunderstorm.
(8) _____ all, they have nothing _____ common. It’s only natural that they can’t get along well.
(9) Last night I came back late _____ the meeting.
(10) They came _______ the 9 o’clock train.

V. Each of the following sentences is provided with four answers labeled A, B, C, and D. Choose the one that best completes it. 
 (1) _______, it is quite easy to drill a hole in it with laser.
a. As diamond is hard                   b. Although hard diamond is
c. Hard as diamond is                   d. However diamond is hard
 (2) Not all the children will visit ________ parents on Sunday.
a. his        b. its        c. their        d. his or her
 (3) If you get up ________, you will miss the plane.
a. lately            b. late            c. latter             d. later
 (4) “Did you say that our neighbor         in the accident?”
a. badly hurt    b. was badly hurted  c. was badly hurt   d. had badly hurted
 (5) It was proposed that the matter _______ discussed at the next meeting.
a. will be    b. was   c. could be   d. be
 (6) In the preface ________ my book, I thanked all the people who had been of help to me.
a. of       b. in        c. for        d. to
 (7)Your ideas, _______, seem unusual to me.
a. just as hers     b. like hers    c. as hers        d. different than hers
 (8)It is wise _________ the case that way.
a. of him to settle   b. for him to settle   c. of his settling   d. that he settle
 (9) He thought that ________________.
a. the effort doing the job was not worth      b. the effort was not worth in doing the job
c. it was not worth the effort doing the job   d. it was not worth the effort by doing the job
 (10) Jack could ask for leave on condition         he was really ill.
     a. for that    b. that    c. of which    d. in which
 (11) Some members of the staff couldn’t handle Murray’s condition, hard ______ they tried.
a. when      b. although      c. as      d. even if
 (12) ______was his anger that his face turned red.
a. Such      b. Great         c. So             d. It
 (13) Only under special circumstances ___________ to take make-up test.
a. are freshmen permitted               b. freshmen are permitted
c. permitted are freshmen               d. are permitted freshmen
 (14) Although the first part of the book is easy, the rest ________.
a. are difficult                   b. has proved difficult    
c. is supposed difficult           d. have been found difficult
 (15) London has a larger population _____ in the United Kingdom.
a. than any city    b. than other cities   c. than all the cities   d. than all the other cities

VI. There are four parts underlined in each of the following sentences. Identify the one that needs correction. 
(1) Sitting up late last night, Tom not only read the assignment but also many poems by one of
         A                            B              C
his favorite poets.
   D
 (2) Have you heard that Jeff’s leg was broken while playing football?
           A              B          C               D
 (3) Having finished his term paper before the deadline, it was delivered to the professor before 
         A                          B                       C
the class.
        D
 (4) Why they will go there to try another experiment has not been decided yet.
         A          B              C                      D
 (5) The more one knows about the Elizabethan England, the more you understand the
A        B                              C
importance of the British Navy
D

VII. Fill in the blanks with the word in the brackets in its proper form. 
(1) I noticed that the wrecked car ______ not yet _______ (take) away.
(2) “________ you like to have another drink?” “No, thanks. I_______ (have) enough.”
(3) If the exit doors hadn’t been blocked, people ______ (escape) from the building hall.
(4) It’s high time that the children ______ (get) dressed.
(5) Great as Newton was, many of his ideas ______ (challenge) today.
(6) By the end of this year, he _______ (stay) here for10 years.
(7) It is necessary that Mike _____ (fill) in all the blanks on as application for a job.
(8) Many old houses ________ (pull down), and many new ones _______ (build) in their place last year.

VIII. Translate the following into English. 
(1) 英国人很为自己的幽默感感到自豪。
(2) 你听到有人在敲门吗？
(3) 孩子们高兴得跳了起来。
(4) 不能把这些书带出图书馆外。

IX. Translate the following into Chinese.
(1) She showed us how to operate the machine.
(2) Is there anyone her whose name is Jack London?
(3) I like swimming (very much) and so does my brother.
(4) Under no circumstances will he leave the country.

X. Read the following passages, and determine what type of clause each of the underlined parts is. 

Passage 1
Community Service
The idea of helping people comes naturally to most of us. (1)If we see a blind person getting off a bus, we watch to make sure that he is in no danger of falling. Members of a family help one another, with particular care for the very young and the elderly.
There are many people who have nobody near to see their need for help and often nobody to give it even when the need is known. The old, the disabled, the homeless and friendless—these are the people (2)for whom help may not come, because nobody sees. It may not have occurred to you (3)that you are in a position to help. Community service means helping the people around you. Organizations exist which try to make sure (4)that someone sees (5)when help is needed and does something about it. These organizations depend on voluntary help to carry out a wide variety of tasks, volunteers giving up a little of their spare time to lend a hand.
If you wish to take part in this worthwhile activity, what sort of things would you do? Think of the people most in need of help and the ways in which help can be given. Much of the work of community service is concerned with the care of the elderly and the disabled. Old people cannot always redecorate their homes. Household repairs, cleaning, preparing food or taking care of the garden may all prove difficult. Elderly people with failing eyesight are delighted if a friend comes in to read or to write letters for them. A helping hand and a friendly face can mean a great deal to a lonely elderly person.

(1) A. 状语从句——表示条件    B. 状语从句——表示对比
(2) A. 名词从句——作同位语    B. 定语从句——修饰先行词
(3) A. 名词从句——作主语      B. 名词从句——作表语
(4) A. 名词从句——作同位语    B. 名词从句——作动词宾语
(5) A. 状语从句——表示时间    B. 状语从句——表示条件

Passage 2
Stress
Most people feel stress at some time in their lives. Some people like this pressure and work better because of it. Other people are not comfortable with any stress at all; they soon become unhappy if they feel stress. Sometimes stress can lead people to do things they wouldn’t usually do, such as overeat, smoke, drink, or use drugs. Stress, however, is a very normal part of life.
It is important to understand that stress doesn’t come from an event itself; that is, from the things that are happening in our lives. It comes from the meaning (6)we give to what has happened. For example, a crying baby may be stressful to one person, but it may not bother another person at all; a traffic jam may be stressful to one person (7)while another person may be able to stay calm.
We can experience stress any time we feel (8)we don’t have control. It can come from a feeling that we can’t do anything about a situation. Basically, it is the body’s way of showing anxiety or worry.
Stress is not just caused by our mental or emotional condition. It is also influenced by (9)how tired we are, whether we have a balanced diet with enough vitamins and minerals, whether we get enough physical exercise, and whether we can relax.
The point at which stress becomes a problem changes from day to day, even for the same person. In some situations, if we are rested and feel good about ourselves, a little stress will not be a problem. In another situation, (10)if we are tired or feel unsure about our abilities, even a small amount of stress can cause problems. For example, we might begin to worry about things that haven’t happened yet instead of working on things that are happening now. Or we might not feel able to find solutions to everyday problems.

(6) A. 定语从句——修饰先行词    B. 名词从句——作同位语
(7) A. 状语从句——表示原因      B. 状语从句——表示对比
(8) A. 定语从句——修饰先行词    B. 名词从句——作动词宾语
(9) A. 名词从句——作介词宾语    B. 定语从句——修饰先行词
(10) A. 状语从句——表示让步      B. 状语从句——表示条件
二、计算机基础：
计算机基础1 
一、 单项选择
1．完整的计算机系统由（　　）组成。
A．运算器、控制器、存储器、输入设备和输出设备
B．主机和外部设备
C．硬件系统和软件系统
D．主机箱、显示器、键盘、鼠标、打印机
2．以下软件中，（　　）是系统软件。
A．Word        B．Unix       C．Excel    　D．Microsoft office
3．计算机能直接识别的语言是（     ）。
    Ａ．汇编语言  Ｂ．自然语言  C  机器语言   Ｄ．高级语言
4．任何程序都必须加载到（    ）中才能被CPU执行。
A． 磁盘           B． 硬盘            C．内存        D．外存
5．组成计算机的主机的部件是（    ）。
A．运算器和控制器    B．控制器和寄存器   C．CPU和内存   D．控制器和内存
6．下列关于操作系统的叙述中，正确的是（    ）
   Ａ．操作系统是软件和硬件之间的接口   Ｂ．操作系统是源程序和目标程序之间的接口
   Ｃ．操作系统是用户和计算机之间的接口 Ｄ．操作系统是外设和主机之间的接口
7． Windows的目录结构采用的是（　　）。 
A．树形结构 　　    B．线形结构  　　  C．层次结构 　　D．网状结构
8．Windows XP操作系统是（     ）
    A．多用户多任务操作系统             B．多用户单任务操作系统
    C．单用户多任务操作系统             D．单用户单任务操作系统
9．Windows XP新增的系统维护功能是（    ）。
    A．系统数据备份      B．磁盘整理     C．磁盘清理      D．系统还原
10．对于Windows XP的控制面板，以下说法不正确的是（     ）。
A．控制面板是一个专门用来管理计算机硬件系统的应用程序
B．从控制面板中无法删除计算机中己经安装的声卡设备
C．对于控制面板中的项目，可以在桌面上建立起它的快捷方式
D．可以通过控制面板删除一个己经安装的应用程序
11．在Word 的编辑状态下，可以同时显示水平标尺和垂直标尺的视图方式是（    ）。
    A．普通视图   B．页面视图    C．大纲视图    D．全屏幕显示方式
12．关于Word 2003文档窗口的说法，正确的是（      ）。
    A．只能打开一个文档窗口      B．可以同时打开多个文档窗口且窗口都是活动的
C．可以同时打开多个文档窗口，只有一个是活动窗口
    D．可以同时打开多个文档窗口，只有一个窗口是可见文档窗口
13．Excel工作表的单元格中（      ）。
A．只能包含数字  B．可以是数字、字符公式等 C．只能包含文字 D．以上都不是
14．如果想在Word 2003的文档中插入页眉和页脚，应当使用(    )菜单。
    A．工具        B．插入         C．格式          D．视图
15．在Excel中，若在某单元格插入函数SUM(D2:$D$4)，该函数中对单元格的引用属于（   ）。
A．相对引用    B．绝对引用     C．混合引用      D．交叉引用
16．Excel 2003的工作表最多有（     ）列
  A．16        B．65536        C．256       D．1024
17．在PowerPoint2003中，在（    ）视图“超链接”功能才起作用。
A．大纲      B．幻灯片        C．幻灯片浏览    D．幻灯片放映
18．在PowerPoint2003中，设置动画效果，使用（　 　）菜单中的“自定义动画”命令。
A．格式      B．幻灯片放映             C．视图         D．插入
19．关于计算机网络的基本功能，正确的是（　　）。
A．资源共享		B．一个计算机系统可以访问多个计算机系统　　  　　
C．多个计算机系统可以访问一个计算机系统		 D．以上都是
20．TCP/IP参考模型将计算机网络协议划分为4层，以下不属于这4层的是（   ）。
A．物理层　　B．传输层  　　C．网络接口层　 D．应用层
21．在Internet上广泛使用的WWW是一种（　　）。
A．浏览器服务器模式  B．网络主机  　C．网络服务器  　　D．网络模式
22．在如下的网络互联设备中属于网络层的是（     ）。
A．网卡 　　B．集线器  　　　C．网桥  　　D．路由器
23．在Internet上下载文件通常使用的（　　）功能。
Ａ．E-Mail       B．FTP       C．WWW        Ｄ．TELENET 
24．用C语言编写的程序需要用（    ）程序翻译后计算机才能识别。
A．汇编          B．编译      C．解释            D．连接
25．算法的特点中不包括（     ）。
    Ａ．有穷性       Ｂ．健壮性    Ｃ．确定性 Ｄ．输入和输出
26．下列选项中，不是计算机病毒的特点的是（      ）。
    Ａ．传染性       Ｂ．破坏性          Ｃ．遗传性       Ｄ．隐藏性
27．网络安全攻击分为主动攻击和被动攻击，下面选项中属于被动攻击的是（   ）。
Ａ．消息篡改       Ｂ．伪装攻击        Ｃ．信息窃听     Ｄ．拒绝服务
28． 真正能唯一地标识出计算机网络中一台计算机的地址是（    ）。
A．地址掩码        Ｂ．网关地址        Ｃ．域名地址     Ｄ．MAC地址
29．常见的网页元素不包括（      ）。
A．程序       　   B．文本    　　　　C．超链接  　　  D．表单
30．HTML文档的三大组成元素不包括（     ）。
A．HTML元素      B．HEAD元素    　C．DTD      　  D．BODY元素
二、多项选择
1. 下列有关快捷方式的叙述，正确的是     。
A：快捷方式改变了程序或文档在磁盘上的存放位置
B：快捷方式提供了对常用程序或文档的访问捷径
C：快捷方式图标的左下角一般有一个小箭头
D：删除快捷方式不会对源程序或文档产生影响
2. .在Windows中，可以对“开始”菜单进行设置的是     。
A：在控制面板中设置
B：在资源管器中设置
C：右键单击任务栏空白处，选择“属性”，在打开的对话框中设置
D：右键单击桌面空白处，选择“属性”，在打开的对话框中设置
3.  在Word的编辑状态，被编辑文档中的文字有"四号"、"五号"、"16"磅、"18"磅4种，下列关于所设定字号大小的比较中，正确的是____。
A："四号"小于"五号"	
B："四号"大于"五号"
C："16"磅小于"18"磅	
D：字的大小一样，字体不同	
4.  Word 2003文档的段落对齐方式包括____
A：右对齐		B：居中对齐		C：左对齐		D：两端对齐
5. 在Word编辑状态下，可以进行的操作是     。
A 对选定的段落进行页眉页脚设置         B 在选定的段落内进行查找，替换
C 对选定的段落进行拼写和语法检查       D 对选定的段落进行字数统计
6. 在Excel 2003中，更改当前工作表名称时，可以使用__ ____ 。 
A：【文件】菜单的【重命名】命令      B：右击工作表名，选【属性】命令 
C：【格式】→【工作表】→【重命名】命令 D：右击工作表名，选【重命名】命令 
7. 在Excel 中，要选定B2:E6单元格区域，可以先选择B2单元格，然后_____。 
A：  按住鼠标左键拖动到E6单元格 
B：  按住Shift键并按向下向右光标键，直到E6单元格 
C：  按住鼠标右键拖动到E6单元格 
D：  按住Ctrl键并按向下向右光标键，直到E6单元格 
8. 在Excel中，如已选中工作表中的某一区域，若只想打印已选中的区域，其设置方法有__ ____。 
A：选【文件】菜单中的【打印区域】中选择【设置打印区域】，然后打印。 
B：在【文件】菜单中的【页面设置】中设置要打印的范围，然后打印。 
C：选【文件】菜单中的【打印】，在打印范围中选择【选定区域】。 
D：只能复制到Word中打印 
9.在PowerPoint 2003中，创建模板的方式有___。 
A： 在"文件"菜单下"新建"命令中选取"模板选项" 
B：  在"文件"菜单下选取"模板"命令 
C： 根据已有的文件创建一个模板 
D： 根据已有的模板创建另一个模板 
10. 在PowerPoint 2003中，下列有关复制幻灯片的说法，正确的是______。
A：可以在演示文稿内使用幻灯片副本
B：可以使用"复制"和"粘贴"命令
C：选定幻灯片后选择"插入"菜单中的"幻灯片副本"命令
D：可以在浏览视图中按住Shift键，并拖动幻灯片
三、辨析题
1．计算机软件系统分为系统软件和应用软件两大部分（　　）。
2．三位二进制数对应一位八进制数（　　）。
3．Outlook Express中，有"曲别针“的邮件，表示该邮件中含有附件。（　　）。
4．将Windows应用程序窗口最小化后，该程序将立即关闭（　　）。
5．用Word 2003编辑文档时，插入的图片默认为嵌入版式（　　）。
6．PowerPoint中的一张幻灯片必须对应一个演示文件（　　）。
7．Internet中的FTP是用于文件传输的协议（　　）。
8．Windows中的文件夹实际代表的是外存储介质上的一个存储区域（　　）。
9．路由器是网络中专门用来寻找路径的一种网络服务器（　　）。
10．计算机病毒是一种恶意程序（　　）。


】计算机应用基础2
一、 单项选择
1．完整的计算机系统由（　　）组成。
A．运算器、控制器、存储器、输入设备和输出设备
B．主机和外部设备
C．硬件系统和软件系统
D．主机箱、显示器、键盘、鼠标、打印机
2．以下软件中，（　　）不是操作系统软件。
A．Windows XP         B．Unix        C．Linux    　　D．Microsoft Office
3．下列存储设备中，断电后其中信息会丢失的是（    ）
    Ａ．ＲＯＭ        Ｂ．ＲＡM      Ｃ．硬盘        Ｄ．软盘
4．任何程序都必须加载到（    ）中才能被CPU执行。
A． 磁盘           B． 硬盘            C．内存        D．外存
5．组成计算机的CPU的两大部件是（    ）。
A．运算器和控制器    B．控制器和寄存器   C．运算器和内存   D．控制器和内存
6．下列关于操作系统的叙述中，正确的是（    ）
   Ａ．操作系统是软件和硬件之间的接口   Ｂ．操作系统是源程序和目标程序之间的接口
   Ｃ．操作系统是用户和计算机之间的接口 Ｄ．操作系统是外设和主机之间的接口
7．在Windows XP的窗口菜单中，若某命令项后面有向右的黑三角，则表示该命令项（    ）。
A．有下级子菜单                     B．单击鼠标可直接执行
C．双击鼠标可直接执行               D．右击鼠标可直接执行
8．Windows XP操作系统是（     ）
    A．多用户多任务操作系统             B．多用户单任务操作系统
    C．单用户多任务操作系统             D．单用户单任务操作系统
9. 如下图所示，Windows 的资源管理器中的符号"+"表示的含义是（    ）。
A：标记文件夹中还有子文件夹
B：备份文件的标记
C：文件夹被压缩的标记
D：系统文件夹的标记
10．对于Windows XP的控制面板，以下说法不正确的是（     ）。
A．控制面板是一个专门用来管理计算机硬件系统的应用程序
B．从控制面板中无法删除计算机中己经安装的声卡设备
C．对于控制面板中的项目，可以在桌面上建立起它的快捷方式
D．可以通过控制面板删除一个己经安装的应用程序
11．Word编辑文档时，所见即所得的视图是（　　）。
A．普通视图       B．页面视图       C．大纲视图         D．Web视图
12． 对一个已经存在的文件dl．doc，打开它并编辑，然后以b．doc存储并保留原文件dl．doc，
应该使用命令是（    ）。
    A． 保存   B．单击标题栏中的“关闭”按钮   C．另存为   D．单击“取消”按钮
13．新建的Excel工作簿中默认有（    ）张工作表。
A．2               B．3            C．4                D．5
14．如果想在Word 2003的文档中插入页眉和页脚，应当使用(    )菜单。
    A．工具        B．插入         C．格式          D．视图
15．在Excel中，若在某单元格插入函数SUM($D$2:$D$4)，该函数中对单元格的引用属于（   ）。
A．相对引用    B．绝对引用     C．混合引用      D．交叉引用
16．在Excel中，进行公式复制时，（    ）发生改变。
A．相对地址中的地址偏移量   B．相对地址中所引用的单元格
C．绝对地址中的地址表达式   D．绝对地址中所引用的单元格
17．在PowerPoint中，（    ）视图可以显示演示文稿的全部文本。
A．大纲      B．幻灯片        C．幻灯片浏览    D．幻灯片放映
18．用PowerPoint制作的演示文稿默认的扩展名是（　 　）。
A．.pwp      B．.ppt             C．.ppn         D．.pop
19．用以太网形式构成的局域网，其拓扑结构为（　　）。
A．环型　　　B．总线型　　  　　C．星型　　　   D．树型
20．OSI参考模型将计算机网络协议划分为7层，以下不属于这7层的是（   ）。
A．物理层　　B．传输层　　  　　C．网络接口层　 D．应用层
21．在Internet上广泛使用的WWW是一种（　　）。
A．浏览器服务器模式  B．网络主机  　C．网络服务器  　　D．网络模式
22．在如下的网络互联设备中属于数据链路层的是（     ）。
A．网卡 　　B．集线器  　　　C．网桥  　　D．路由器
23．在IE地址栏输入的“http://www.sdu.edu.cn/”中，http代表的是（　　）。
Ａ．传输协议与资源类型        B．资源在主机上的存放路径
C．主机的IP地址或域名         Ｄ．用户名 
24．用C语言编写的程序需要用（    ）程序翻译后计算机才能识别。
A．汇编          B．编译            C．解释            D．连接
25．下列选项中，（    ）不是网络信息安全所面临的自然威胁。
    Ａ．自然灾害      Ｂ．恶劣的场地环境    Ｃ．电磁辐射和电磁干扰 Ｄ．偶然事故
26．下列选项中，不是计算机病毒的特点。（     ）
    Ａ．可执行性       Ｂ．破坏性          Ｃ．遗传性       Ｄ．潜伏性
27．网络安全攻击分为主动攻击和被动攻击，下面选项中属于被动攻击的是（   ）。
Ａ．消息篡改       Ｂ．伪装攻击        Ｃ．流量分析     Ｄ．拒绝服务
28．从本质上讲，计算机病毒是一种（　　）。
A．细菌       　   B．文本 		C．程序			D．微生物
29．常见的网页元素不包括（      ）。
A．程序       　   B．文本 		C．超链接  　　  D．表单
30．HTML文档的三大组成元素不包括（     ）。
A．HTML元素      B．HEAD元素    　C．DTD      　  D．BODY元素
二、多项选择题
1．下列关于“资源管理器”的叙述，正确的是(   )。
    A．使用资源管理器，可以移动文件      B．使用资源管理器，可以启动应用程序
    C．使用资源管理器，可以管理文件      D．使用资源管理器，可以连接网络驱动器
2. 在下列有关Windows 菜单命令的说法中，正确的是(   )
A：命令前有符号（√）表示该命令有效
B：带省略号（…）的命令执行后会打开一个对话框
C：命令呈暗淡的颜色，表示相应的程序被破坏
D：当鼠标指向带黑三角符号的菜单项时，表示该命令已经选中。
３. 在Word编辑状态下，可以进行的操作是（）。
A 对选定的段落进行页眉页脚设置         B 在选定的段落内进行查找，替换
C 对选定的段落进行拼写和语法检查       D 对选定的段落进行字数统计
4.下列方法中，能退出Excel软件的方法有(    )。 
A: 使用[文件]菜单的[退出]命令  B: 使用Excel控制菜单的[关闭]命令 
C: 使用[窗口]菜单的[隐藏]命令  D: 双击工作簿控制菜单框（或控制菜单图标）
5. 在Excel 2003中，更改当前工作表名称时，可以使用(    )。 
A:　【文件】菜单的【重命名】命令      　Ｂ:右击工作表名，选【属性】命令 
C：【格式】→【工作表】→【重命名】命令　D：右击工作表名，选【重命名】命令
6. Word 2003文档的段落对齐方式包括（  ）
A.右对齐		B.居中对齐		C.左对齐		D. 两端对齐
7. 在使用PowerPoint的幻灯片放映视图放映演示文稿过程中，要结束放映，可操作的方法有（  ）。 
A:　按Esc键          B:单击鼠标右键，从弹出的快捷莱单中选"结束放映" 
C：按Ctrl+E键        D：按回车键
8. 对于Powerpoint演示文稿的打印，以下说法中正确的是（  ）。
A:　将“打印”→“打印内容”选为“演示文稿”，则每页最多可打印6 张幻灯片。 
B:将“打印”→“打印内容”选为“幻灯片”，则只能打印出幻灯片内容 
C：页面设置可以对打印时幻灯片大小、方向等进行设置 
D：将“打印”→“打印内容”选为“备注页”，则只能打印出备注
9  计算机网络的拓扑结构有（  ）。 
A:　星型          B:环型         C：总线型        D：三角型
10. 在Word编辑状态下，对于选定的文字能进行的设置是（  ）。
A 加下划线    B 加着重符    C 动态效果    D 自动版式
三、辨析题
1．计算机软件系统分为系统软件和应用软件两大部分（　　）。
2．存储器采取按地址读写的工作方式（　　）。
3．时钟频率是衡量CPU运行速度的主要指标（　　）。
4．将Windows应用程序窗口最小化后，该程序将立即关闭（　　）。
5．用Word 2003编辑文档时，插入的图片默认为嵌入版式（　　）。
6．PowerPoint中的一张幻灯片必须对应一个演示文件（　　）。
7．URL是标识Web网页地址的一种解决方案（　　）。
8．Windows中的文件夹实际代表的是外存储介质上的一个存储区域（　　）。
9．路由器是网络中专门用来寻找路径的一种网络服务器（　　）。
10．计算机病毒是一种恶意程序（　　）。
 
三、网络教育导读：
一、单选
1.下列关于在职人员参加网络教育的优势的说法中，（）是错误的
A.实践经验丰富
B.理解能力强
C.有空余时间学习
D.自控能力强
2. 下列关于在职人员参加网络教育的优势的说法中，（）是错误的
A.制定一个比较科学的、实事求是的、切实可行的学习计划，是极其重要的。
B.为落实学习计划，主动请人监督是非常有必要的。
C.因为每人的具体情况不同，所以每一个人的学习计划是不相同的。
D.执行自己制定的学习计划，要依靠较强的自律精神。
3. 远程教育是指学生与教师、学生与教育组织之间采取（ ）进行系统教学和通信联系的教育形式
A.函授  B.多媒体手段 C.通信D.面授
4.下列关于参加网络教育学习的说法中，（）是错误的
A.学生可以利用单位、学习中心等条件，必要时甚至可以到网吧去浏览课件。
B.学生必须拥有自己的联网计算机，否则无法正常学习。
C.学生家庭没有上网条件的，同样可以参加网络教育学习。
D.对于工作、学习、生活等环境均不具备上网条件的人员，不应参加网络教育。
5.学生参加网络教育的首要条件是（）。
A.有方便的上网学习环境 
B.有良好的学习自觉性和自主学习观念
C.有足够熟练的上网水平和文字编辑能力
D.有足够的上网时间浏览学习资源
6.对网络教育影响最大的宏观教育思想是（）
A.教育为经济服务思想和终身学习思想
B.教育个性化思想和全球教育合作思想 
C.教育个性化思想和终身学习思想 
D.教育为经济服务思想和全球教育合作思想
7.下述诸条中，（）不是网络教育的特点
A.学生按照学校制定的课表上课 
B.学校利用网络向学生传送教学资源 
C.学生利用网络与学校联系沟通
D.学生的学习以平时自学为主
8.下列关于网络学历教育毕业证书的说法中，正确的一项是（）
A.按教育部规定，毕业证书上须注明“网络教育”字样
B.毕业证书上是否注明“网络教育”字样由学校自行决定
C.毕业证书应加盖网络教育学院的印章
D.教育部是否对毕业证书进行电子注册，主要由学校决定
9.目前学院在学生服务方面提供的服务主要有：入学指导、学习方法指导、课程学习指导、、信息发布和咨询服务、期末复习指导、（ ）和校园文化等。
A.毕业指导B.听课方法C.作业指导D.学生活动
10.掌握学习方法不仅关系到当前学习的成败，同时关系到将来一生事业的发展，具有重大的战略意义。学会学习的方法有时比（ ）更重要
A.听课B.获取知识C.学生交流D.做作业
11.现代远程教育与传统学校教育的不同之一是：学习活动是（ ）、个别进行的。
A.学校安排B.老师安排C.领导安排D.自主安排
12.在教学设计中，一般不包括（ ）
A.学习环境分析
B.教学研修和反思
C.选择教学策略
D.选择教学资源
13.下面对教学设计的描述中，哪个是错误的：（ ）
A.教学设计有利于现代教育技术应用的不断深化，促进教育技术的发展
B.教学设计有利于教学工作的科学化，促进青年教师的快速成长
C.教学设计是提高教师学科知识水平的有效方法
D.教学设计有利于教学理论与教学实践的结合
14.校园游的内容？
A.游览校园B.参加实验C.教师座谈
D.参观博物馆
15.山大网络教育学院成立于哪年？
A.2000年B.2001年
二、多选
1.网络学习的正常进行需要下列哪些因素（）
A.运行稳定的个人计算机
B.快速流畅的互联网宽带
C.对个人计算机的基本操作技能
D.关于网络应用的基本操作技能
2. 网络教育区别于传统教育的特点是（）
A.开放性
B.共享性
C.交互性
D.灵活性
3.除了学习者的智力因素外，学习者的非智力因素对其学习的影响也非常大。下面关于学习
者非智力因素对学习影响的描述中，哪些是错误的？（  ）
A.学习者的意志力越强，学习兴趣越浓
B.学习者的性格特点决定着他的学习偏好
C.全部都错
D.学习者态度越端正，则学习动机越强
4. 山大网络平台的功能有？
A.用户登录B.视频学习C.师生交流D.买卖证书
E.淘宝购物F.驾照学习G.在线测试H.在线答疑
5.建构主义教学策略强调真实情境下学生的自主学习，强调对知识的自我建构。下面选项中
哪些不是建构主义的教学策略？（ ）
A.讲授法
B.支架式
C.探究式
D.抛锚式
E.操练—反馈式
6.学习帮助的形式？
A.答疑中心
B.老师辅导答疑
C.课程帮助
D.电话支持服务
E.课程中心答疑
四、职业道德与法律基础：
一、单项选择题（每题3分，共30分）
1.人们的社会生活可以分为公共生活、（   ）与婚姻家庭生活三大领域。
A.法律生活    B.职业生活   C.生产实践     D.休闲生活
2.(   )就是要求从业人员在职业生活中做到公平、公正，不谋私利，不徇私情，不以权损公，不以私害民，不假公济私。
A.爱岗敬业    B.诚实守信   C.办事公道     D.服务群众
3.言必行，行必果，言行一致，表里如一，体现的是（   ）道德原则。
A.诚信        B.宽容         C.内省        D.平等
4.下列表述正确的是（）。
A.法是由国家强制力保证实施的，具有国家强制性 
B．法是由国家强制力保证实施的，具有国家强制力 
C.国家强制力是保证法实施的唯一力量 
D.任何情况下法的实施都必须借助干国家强制力
5.现行宪法颁布实施以来全国人大对宪法进行了（    ）。
A.二次修改  B.三次修改  C.四次修改  D.五次修改
6.我国民法是调整（　　　）的公民之间、法人之间以及公民和法人之间的财产关系和人身关系的法律规范的总称。
A. 特殊主体        B. 一般主体   C.平等主体        D. 财产主体
7.我国民法通则规定，普通诉讼时效是（　　　）。
A: 1年        B: 2年
C: 3年        D: 5年
8.代理人在代理权限内，以（　　　）的名义实施民事法律行为。
A: 国家        B: 自己
C: 被代理人        D: 代理人所在机构  
9．我国《刑法》规定的完全刑事责任的年龄为（ ）。
A．14 周岁 B．16 周岁 C．18 周岁 D．20 周岁
10.某甲盗窃准备安装的电缆线，数额较大，构成盗窃罪。某乙盗窃正在使用中的电缆线，数额较大，构成破坏通讯设备罪。两人行为侵害的对象相同，但罪名却不同，原因是：（    ）
A.犯罪对象本身的性质不同
B．犯罪对象可能造成的危害不同
C．犯罪对象数额大小不同
D．犯罪对象所侵害的社会关系的性质不同
二、判断题（每题2分，共20分）
1.“干一行爱一行，爱一行钻一行，精益求精，尽职尽责”是社会公德的基本要求。（    ）
2.职业活动的属性不是人以确定的，而是基于群众的需要。（    ）
3.“吃拿卡要”现象有损从业人员的职业形象。（    ）
4.在我国，“人民”的概念内涵就是“公民”。（    ）
5．1954年宪法是第一部社会主义性质的宪法。（    ）
6．在我国，基层民主政治的形式主要是村民委员会。（   ）
7.全国人大和全国人大常委会都是我国的立法机关。（   ）
8.我国上级法院领导下级法院。（   ）
9.公民从18 周岁起到死亡时止，具有民事权利能力，依法享有民事权利，承担民事义务。
10.我国的婚姻法规定，男女双方的结婚年龄是男子不能低于22周岁，女子不能低于18周岁。（   ）
三、论述题（共50分）：
试述社会主义法治理念的深刻内涵。（500字左右）
五、沟通技巧与职业能力
1.为什么说“没有完美的个人，只有完美的团队。有了优秀的团队，才会有优秀的个人？”请以《西游记》为例，进行阐述。
2职场中应注意处理好哪些关系？职场礼仪的基本要求是什么？
3你认为，企业最重视的职业能力有哪些？怎样提升执行力？









